22
(73

.

—— .

Exnm.Code:O*)w

B.E. (Electrones - C1 079 Sub. Code: 957
ot OMmupjg,
soy cation Fneinee
t ;Flt 1\ Semester gineering)
L gllowed: 3 Hours *: Control Systems

Max. Marks: S0
Iﬁ”" { ,.h que stions in d” .c- |
) 2 4 ine 1!4\1’1!1\‘ ) /
nyo ‘]!u s{lons fl onm eqce h Pa ar, ( uestion No. l"'hi(‘h is ('0"‘]71[,"(7."\' and selecti
1 SOr ‘ ele ng

X-x-x

a1 what is the effect of positive ang negative feedback an any sy ?
(i) How transfer function can be obtaineg from state mode1: o
(i) What is the necessity of 3 compensator? |
(iv) Define state vector as used in state space analysis?
(v) Give the importance of Gain Margin and Phase Margin?
(5x2)
. PartA

Q.2 (i) From the block diagram determine the C/R using block diagram reduction. (5)
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(i) A unity feedback control system has its open loop transfer function given by G(s) = (ds+1)/4s?

hen the system is subjected to (i) unit impulse

(S)

Determine an expression for the time response w

input function and (ii) unit step input function.

Q.3 (i) What is the necessary and essential condition for the stability according to Routh’s Criterion?

Hence find the stability of the syster
S+sttsS+si+3s+15=0

1 described by characteristic equation
(S)

(i) Write short notes on following two:

a) DC Techo- generators .
b) Error detectors —potentiometers and synchro’s.
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Q.4. Draw the root loci of the open loop transfer function of the feedback control system

given beloy, "
) oK o)
comment about the stability. G(s)H(s) = 519)(575)

PartB

Q.5 Sketch the Bode plot for the system whose transfer function is G(s) =

100(1+0.1;}
5(“0353(“053)
and determine the following and comment upon the stability.
(i) Gain crossover frequency
(i) Phase crossover frequency
(iii) Gain margin .
(iv) Phase margin for the transfer function (10)

y and observability of 3 state mode| using one physical
wo characteristics:
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